

Operaciones combinadas

→ Escribe la respuesta correcta con el teclado.

$6 \times 3 + 9 - 7 =$
$9 + 2 \times (3 + 5) =$
$6 + 2 - 3 + (3 \times 4) =$
$6 + 5 - 3 + (5 \times 6) =$
$7 + (3 \times 5) - 8 =$
$6 + (3 + 7) \times 9 =$
$6 + 7 \times (9 - 8) =$
$(9 + 5) - (4 \times 3) =$
$6 : 2 + 3 \times 4 =$
$(2 + 5) \times 8 - 6 =$
$9 - 2 \times (6 - 2) =$
$9 - (1 \times 8) : 4 =$
$4 + (5 \times 6) : 2 =$
$5 + 4 + (6 \times 8) =$
$9 \times 5 + 3 \times 5 - 5 - 5 =$
$12 + 9 - (2 \times 4) =$
$2 + 2 - 2 \times 2 =$
$8 + 9 - (3 \times 4) =$
$9 - 8 + (9 \times 5) =$
$5 \times 9 - (6 + 5) =$